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Algebra
~b++/b*-4ac x if x>0
2a -x if x<0
n n 2
Zl:n zi:n(n+1):n_ n
i=1 i=1 2 2
Z":izzn(n+1)(2n+1):£ n® . n
= 6 3 2 6
Zn:|3—n2(n+1)2 _n* n* n?
= 4 4 2 4
z=a+bi Z*=a-—Dbi
A
/MA+/nB = /n(AB) MA-/MB = yn(gj
/A" = ninA log, X = log, x
log, a

Calculus

Area = lim (b_TajZl f (x) zxndx {x“ﬂ T

n—o n+1
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[ £'(a())g' 00 dx=f(g(x))+C
j f(x).g'(x)dx = f(x).g(x)—jg(x).f '(x)dx+C
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V = 2dx
r+1 r f.(Xr) ﬂ'!‘.y
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Function Derivative

Xn an—l

sin x COoS X

COS X —sinx

tan x sec’ x

cot x —cosec’x

sec X sec x.tan x

COSEecC X —COSEecC X.cot X

f(9(x)) f'(9(x)).9'(x)
f(x).g(x) g(x).f'(x)+ f(x).9'(x)
f(x) g(x).f'(x) - f(x).g'(x)
g(x) [g(0F

A= 1r29 s=ro

2

In AABC: a _b _.c¢

sin A - sinB - sinC

a’ =b?+c?-2bc.cos A
1 )

Area:Eab.smC

sin? A+cos? A=1 1+tan? A=sec? A

sin(A+ B)=sin A.cos B + cos Asin B

sin2A = 2sin Acos A

sin A.cosB = %[sin(A+ B) +sin(A-B)]
. . 1
sin AsinB = E[cos(A— B) — cos(A + B)]

cos A.cosB = %[cos(A— B) + cos(A+ B)]

IEB Copyright © 2015

1+ cot? A =cosec’A

cos(A+ B)=cos Acos B ¥sin Asin B

cos? A—sin? A
cos2A={2cos’ A-1
1-2sin* A
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